How to Read the Graphs:   STELLA NPP Biomass model
There are five variables plotted on the same set of axes in this model. The lines are numbered and the name of the line/variable is printed across the top. The name and number are color coded with the Y-axis labels. The minimum and maximum values of each dataset can all be different as in this example. Then there will be 5 values along each tic mark on the y-axis.
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Each variable has a different min and max value, o each tic mark on the Y-axis has a
different value for each variable. For example, the Temperature is and is the.
number 2 variable. Temperature in this run is unchanged for 200 yrs (at 18.7 degrees
Celsius.) The Biomass (variable 4) grows from 0 to 2261 g/m"2. You can see the green
line for Biomass falls between tic labels 1500 and 3000.





 Below is a different example of 5 variables plotted on the same axes and variables 1 and 2 (the NPPP and NPPT) have the same maximum and minimum values. Variables 4 and 5 (litter and annual accumulation) also have the same scale. The Y-axis tic labels are in black when they represent more than one variable.  Note that when two variables have the same range on the Y-axis, they are bracketed on the left margin. 

[image: image2.png]3 Temphod  d:Litter 5: AmAcoum

)
4

H

él f

- 2 >

] e

: ° l | |

4

N 1 3- 3- 3- 3-

B 1oa f1 4 i +

:

b ot — s

o % 1odo 153 05

a1 R 1531 ved, hn 25, 008
NE e e e e e

The TemoMod variable in this run is not changing for 200 yrs. The
litter is increasing each year (variable 4) and the annual
accumulation (variable 5) which is the growth (NPP) minus the litter,
will decrease as litter and NPP become equal.




When you place your cursor on the graph line and click the mouse, a vertical line will drop through all the graphs to the x-axis.  The values of the 5 variables will appear under the variable labels along the top.  The x-axis value, in this case Years, is displayed beneath the X-axis for the point that you clicked. You can move your cursor to display values for a particular year.  Here it is Year 17.  The Annual Accumulation (#5) is 10 g/m^2.
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Variation in NPP due to presip or termp





